Border Union Agricultural Society

Regulations & Trophy list For The

Bake & Create Section

At the Border Union Show 2024

At

Springwood Park, Kelso

On

Friday 26th & Saturday 27th July 2024

Secretary:

Ms Sarah Plummer Tel:07794712419

Email: sarah.p1983@outlook.com

JUDGES

600-604	TBC
605-608	Mrs Karen Dagg, Kelso
609-616, 623, 624 & 627	Sally Flintoff, Kelso
617-622	Mrs Marion Hamilton, Bowden
628-634	Mrs Caroline Tullie, Hawick
635-645	Mrs Jennie Pole, Hawick
646-647 & 653-659	Mrs Susie Finlayson, Hawick
648-652 & 625	Mrs Kirsty Robb, Kelso
660-665 & 626 & 675	Mr Ford Renton, Galashiels
666-674	Mrs Linda Falconer, Hawick

BAKING

		1st	2nd	3rd
600.	Dark Fruit Cake	£2.50	£2.00	£1.50
601.	Madera Cake	£2.50	£2.00	£1.50
602.	A Chocolate Sandwich Cake (filling only)	£2.50	£2.00	£1.50
603.	Plain Gingerbread	£2.50	£2.00	£1.50
604.	Marmalade Cake (recipe Provided)	£2.50	£2.00	£1.50
605.	Lemon Drizzle Cake	£2.50	£2.00	£1.50
606.	Date and Walnut Loaf	£2.50	£2.00	£1.50
607.	3 Coconut Tart	£2.00	£1.50	£1.00
608.	3 Pieces of Traybake (not oven baked)	£2.00	£1.50	£1.00
609.	3 Pieces of Traybake (oven baked)	£2.00	£1.50	£1.00
610.	3 Shortbread Biscuits	£2.00	£1.50	£1.00
611.	3 Chocolate Chip Cookies	£2.00	£1.50	£1.00
612.	3 Custard Creams	£2.00	£1.50	£1.00
613.	3 Cheese Scones	£2.00	£1.50	£1.00
614.	3 Fruit Scones	£2.00	£1.50	£1.00
615.	Loaf of Bread (any type, bread makers allowed)	£2.00	£1.50	£1.00

FLORAL ART

616.	A Green and White arrangement. An	1st	2nd	3rd
	arrangement in any container, staged on a table	£3.00	£2.00	£1.00
	2ft high, 18" round top			
617.	'Kelso Show' An Exhibit to depict the title. Space	£3.00	£2.00	£1.00
	allowed width 24" x depth 24". Height unlimited			
618.	An arrangement using Supermarket Flowers to	£3.00	£2.00	£1.00
	the value of £10 or under (receipt to be			
	displayed) Foliage allowed.			
619.	A single Flower Stem in a vase (no accessories)	£3.00	£2.00	£1.00
620.	A Petite Arrangement (Larger than 4" and less	£3.00	£2.00	£1.00
	than 10")			
621.	*A Table Arrangement (candles permitted)	£3.00	£2.00	£1.00

^{*} Novice Class for those who have never won a 1st prize ticket in Floral Art at the Show

UNDER 30S
Special Prize for most points in this section

		1st	2nd	3rd
622.	3 muffins	£2.00	£1.50	£1.00
623.	3 pieces of Traybake (baked or unbaked)	£2.00	£1.50	£1.00
624.	Gift Wrapped Parcel	£2.00	£1.50	£1.00
625.	Photograph of an Animal	£2.00	£1.50	£1.00
	MEN ONLY			
		1st	2nd	3rd
626.	3 Savoury Scones	£2.00	£1.50	£1.00

PRESERVES AND PRODUCE

		1st	2nd	3rd
627.	Jar of Raspberry Jam	£2.00	£1.50	£1.00
628.	Jar of Strawberry Jam	£2.00	£1.50	£1.00
629.	Jar of Jam (any fruit other than above)	£2.00	£1.50	£1.00
630.	Small Jar of Lemon Curd	£2.00	£1.50	£1.00
631.	Jar of Jelly (any fruit)	£2.00	£1.50	£1.00
632.	3 Hen Eggs (any colour)	£2.00	£1.50	£1.00
633.	Jar of Chutney (any variety, named)	£2.00	£1.50	£1.00
634.	3 Pieces of Fudge	£2.00	£1.50	£1.00
635.	3 Peppermint Creams	£2.00	£1.50	£1.00
636.	3 Truffes	£2.00	£1.50	£1.00
637.	5 Herbs in a Jar (named)	£2.00	£1.50	£1.00
638.	A Flask of Soup (named, bowl provided	£2.00	£1.50	£1.00
639.	A Small Dish of Sandwich Filler	£2.00	£1.50	£1.00
640.	A Wedge of Quiche	£2.00	£1.50	£1.00
641.	A Small Dish of rice Salad	£2.00	£1.50	£1.00
642.	Individual Sticky Toffee Pudding	£2.00	£1.50	£1.00
643.	Individual Fruit Crumble	£2.00	£1.50	£1.00
644.	3 individual Meringue Shells	£2.00	£1.50	£1.00
645.	A Small Bottle of Homemade Gin based Alcohol	£2.00	£1.50	£1.00
	(named)			
646.	A Small Bottle of Homemade Alcohol (not gin	£2.00	£1.50	£1.00
	based, named)			

HANDCRAFTS

		1st	2nd	3rd
647.	A Knitted Garment (any yarn)	£2.00	£1.50	£1.00
648.	A Knitted Garment for a baby	£2.00	£1.50	£1.00
649.	A Knitted Toy	£2.00	£1.50	£1.00
650.	Best use of 50g of yarn	£2.00	£1.50	£1.00
651.	A Crochet Item	£2.00	£1.50	£1.00
652.	A Flower Brooch (any craft	£2.00	£1.50	£1.00
653.	A Machine Sewn Article	£2.00	£1.50	£1.00
654.	A Lavender Bag (any craft)	£2.00	£1.50	£1.00
655.	A Gift Wrapped Parcel	£2.00	£1.50	£1.00
656.	A Handmade Card	£2.00	£1.50	£1.00
657.	A Bookmark (any craft	£2.00	£1.50	£1.00
658.	An Article not already in the schedule	£2.00	£1.50	£1.00

PHOTOGRAPHY

		1st	2nd	3rd
659.	4 Photographs on a theme (to be shown on a card)	£2.00	£1.50	£1.00
660.	A Colour Photograph 'The Weather'	£2.00	£1.50	£1.00
661.	A Colour Photograph 'Animal Snapshot'	£2.00	£1.50	£1.00
662.	A Black and White Photograph	£2.00	£1.50	£1.00
663.	A Photograph Featuring water	£2.00	£1.50	£1.00
664.	A Humorous Photograph with a caption	£2.00	£1.50	£1.00

Please note: Photographs to be no larger than 7" x 5"

JUNIOR SECTIONS— ENTRY FREE

Must be child's own work and age must be stated on entry label

	<u>9-14years</u>	1st	2nd	3rd
665.	An Individual Pizza (no bigger than 6")	£1.50	£1.00	50p
666.	A Drawing of a Cartoon Character A4	£1.50	£1.00	50p
667.	Lego Model (no Kits) (max size 12" Square)	£1.50	£1.00	50p
	<u>5-8 years</u>			
668.	Pitta Bread Pizza (topping only judged)	£1.50	£1.00	50p
669.	Tinfoil Model	£1.50	£1.00	50p
670.	Lego model (not kits) (max size 12" square)	£1.50	£1.00	50p
<u>Under 5 years</u>				
671.	Edible Necklace	£1.50	£1.00	50p
672.	A Collage using Recycled Materials A4	£1.50	£1.00	50p
673.	A Duplo Model (max size 18" Square)	£1.50	£1.00	50p

MARMALADE CAKE

225g Plain Flour	Zest of 1 orange and 1 Lemon
15g Baking Powder	150ml Milk
125g Dark Soft Brown Sugar	1 Teaspoon White Wine Vinegar
125g Unsalted Butter	1 large Tablespoon Marmalade
1 teaspoon Ground Mixed Spice	1 Tablespoon Demerara Sugar
125g Dried Mixed Fruit	

Pre-heat non fan oven 180oc. Grease and line a 7" round cake tin. Mix flour, baking powder and sugar together in large mixing bowl. Add the butter and rub through your fingers until mixture resembles breadcrumbs. Add mixed spice, mixed fruit and zest and mix together. Add the milk, a little at a time, and mix well. Add white wine vinegar and marmalade and mix well. Spoon mixture into prepared cake tin and flatten with the back of a spoon. Sprinkle demerara sugar onto mixture. Bake in the centre of a preheated oven for 1 1/2hours or until firm to touch. Cool cake in tin before transferring to a wire rack.

LADIES COMMITTEE

Convenor: Ms Alison Robb, 8 James Dickson Place, Kelso (Tel: 01573 228647)

Ms Sarah Plummer 2 Carham Cottage, Cornhill (Tel: Mrs Helen Moffat, 2 Ruletownhead Cottages,

07794 712419)

Mrs Joan Duncan, Makerstoun, Kelso Mrs Catherine Peters Hillside View, Lauder

Mrs Alison Runciman, Elmbank, Earlston Road, Stow Mrs Jan Little, Castleweary Teviothead, Hawick

Mrs Margaret Plummer, 9 Dyers Court, Kelso Miss Fiona Mercer, Crosslee Bungalows, Galashiels

Mrs Hazel Mallen, Renwick Gardens, Morebattle

Miss Emma Spence, 3 East Fenton Cottages, North

Berwick

Bonchester Bridge

Miss Rebecca Easson, Kelso

REGULATIONS

- 1. The competition is OPEN to all individuals
- 2. Every Exhibit must be the work of the Exhibitor and MUST NOT HAVE BEEN EXHIBITED at a previous Border Union Show.
- 3. All Knitting must be hand done.
- 4. One entry only allowed in each class per exhibitor.
- 5. Entry Fee of 40p for each exhibit is payable at the time of entry.
- 6. Labels will be issued to attach to exhibits. Please ensure that jam and handicraft labels are securely tied or fixed on.
- 7. Exhibits will be received at the Bake and Create Section (Thorburn Building behind main hall) Between 9am and 10am on Friday 26th July (The green gate will be closed to all traffic from 10am)
- 8. Judging will commence at 10.30am on Friday
- 9. The hall will be open to the public on Friday afternoon Approx. 1.30pm to 5.30pm, and on Saturday from 9am till 4.30pm. The exhibits will be kept in safety overnight. Trophies will be presented at 4.30pm on Saturday, exhibits can be removed immediately afterwards. No entry for cars before 5.30pm. All Exhibits unclaimed by 6.00pm will be disposed of to charities
- 10. The following prizes will be awarded in each class—1st, 2nd, 3rd. Highly Commended will be awarded in classes with 12 or more entries. Children's classes at judges discretion.
- 11. Judges decision is final.
- 12. In the case of a tie for the Cup Winner in any section, the cup will be awarded to the competitor with the highest awards.
- **13.** Exhibitors who have 12 or more entries will receive a free pass to the showground on Saturday 27th July
- 14. Entries (with entry fee) to be in the hands of Ms Sarah Plummer, 2 Carham Cottage, Cornhill on Tweed TD12 4RW No Later than Friday 19th July.
- 15. Entry money may be paid by BACS online to BUAS Bank of Scotland
- 16. Account Sort code 80-16-57 Account No 00115245. Please use surname as reference.
- 17. Prize winners will receive their prize money at the entrance to the hall on Saturday.
- 18. All entries in the Junior Section must be the Child's own work.

TROPHIES

The Industrial Cup will be awarded to the competitor with the highest aggregate of points over the whole section. (+£5 and £3 runner up)

Rose Bowl Presented by Mrs Templeton, Goshen Bank, will be awarded to the competitor with the highest number of points in the Baking section. (+£5 and £3 runner up)

The Jean Wilson Trophy to be awarded to the best entry in the Baking Classes (1-16)

Margaret Forest Rose Bowl will be awarded to the competitor with the highest aggregate of points in the Floral Art Section (+£3)

Shaw Salver will be awarded to the runner up in the Floral Art Section (+£2)

The Mary Rogerson Trophy will be awarded to the best arrangement in the Floral Art Section (+£3)

Kelso Pea Growers Ltd Perpetual Challenge Cup will be awarded to the competitor with the highest aggregate of points in the Preserves and Produce Section (+£3 and £2 runner up)

The Turnbull Salver, presented by Mrs Joyce Turnbull, will be awarded to the competitor with the highest aggregate of points in the Handicraft Section (+£3 and £2 runner up)

The Jan Little Trophy will be awarded to the competitor with the highest aggregate of points in the Photography Section

The Lees Cup will be awarded to the competitor with the most points in the Junior section, 9 to 14 years. (+£2 and £1 runner up)

The Margaret College Shield will be awarded to the competitor with the most points in the junior section, 5 to 8 years . (+£2 and £1 runner up)

Pat Sloan Trophy for the most points in the junior section, under 5's. (+£2 and £1 runner up)